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reg_asym_saml_diff bpm1X_ slope vs run
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reg_asym_saml_diff_ bpm4aY_slope vs run

X2 / ndf 44,94/ 81

pulllD
pO -61.52 + 0.6183 25
a J Entries 82
M -0.0675
20 Std Dev 0.7372
15
- 10+
TN <RAO THD N R SHD RO N ORLAID TR DS 00RO NSHN <D0 SRR LADEID “TIREN SR LADE0
pull
B - Entries 82 5[~
E t[ Mean 14.16
it :.:|.Std Dev 31.4
E=
E 0||||||||||||||||:‘||T||m|||||||||
-8 - -4 -2 0 2 4 6 8




-10

reg_asym_saml_diff_ bpm4eX_ slope vs run
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reg_asym_saml_diff_ bpm12X_ slope vs run
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reg_asym_sam2_diff bpm1X_ slope vs run
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reg_asym_sam2_diff_bpm4aY_slope vs run
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reg_asym_sam2_diff_bpm4eX_ slope vs run
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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam2_diff_bpm12X_ slope vs run
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reg_asym_sam3_diff bpm1X_ slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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x2 | ndf 69.37 /81
PO 97.54 £ 7.703 pull1D
250 ol _
200 M 0.3093
50 Std Dev 0.8662
1 il
G[olo] R SRURRRATRERRARERSTTRRRNN, SEn4AROTTHRRRTENIARRRNTTRAALERRIRTRONTERRANRERN [
40
5O~ d Ao pe e AL e b e e L L A A
(0] 2 < R  ER R e PR PR R R R R PP 30
e
T 00 HS R SR SHID O ORLRID TR @ IR0 NS D60 ST LD %D SRS LDe0 20-_
SneEETsRTEEnEnELe |
! = é':':'E':':':':'E':"':':':":':':':':'E':':':':':'E':':':':'E"':"':':":':':':':'E':':':':'"':':':':':'E':':':':'E':':':':':":':':';';' Entries G 32
0 .| Mean 6;583 10k
-3 O-III|III'II|ITII|-I||IIIIT|I|III|III|III

-8 -6 -4 -2 0 2 4 6 8




reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm4eY_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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reg_asym_samb_diff_bpm4eX_slope vs run
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reg_asym_sam6_diff bpm1X_ slope vs run
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